2b. A magician is ordering packs of
balloons.

Choose a number from the cloud.

93 She already has 978
balloons but orders another
279 15 packets of 100.

Count on in 10s like this, 23, 33, 43, 53, 63.

Repeat for the other numbers.

How many balloons will she have?

3b. The children are discussing this
sequence:

1,850; 1,950; 2,050; 2,150

'i.i<[,. The number is going up ]

Choose a number from the cloud.
Count back in 10s like this, 67, 57, 47, 37, 27.

Repeat for the other numbers.

- < in 100s.

Benji

[ The number is going up gﬁ

372 in 100s and 1,000s.

Count on in 1000s like this, 3708, 4708, Chloe
5708, 6708, 7708. Who is correct? Explain your answer.

Choose a number from the cloud.

Repeat for the other numbers. 8375 4090

4) Complete the table.

Count forwards in steps of 1000 , 6536, 7536,

Count backwards in steps of , 75 302, , 55 302, 45 302,

Count in steps of 956 357, 956 257, 956 157,

Count in steps of 5821, , b841, 5851,

Navigate your way through the counting maze from the starting numbers. You can move horizontally, vertically

5) and diagonally.

2569
Count
forwards in
1000s

102 156
Count
backwards in
10 000s

51 620
Count
forwards in
100s

152 156
Count
backwards in
10s

3569

112 156

51720

51820

152 146

82 156

122 156

125136

152 136

51 920

72 156

6569

52120

52 020

152 126

62 156

7669

8569

53 020

152 116

61 156

8669

8469

9569

152 106




